etrapez

KURS
ROWNANIA ROZNICZKOWE

Lekcja 6
Uktady dwoch rownan rozniczkowych
rzedu pierwszego

ROZWIAZANIE ZADANIA DOMOWEGO
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Czeé¢ 1: TEST

Pytanie 1: a
Pytanie 2: d
Pytanie 3: ¢
Pytanie 4: c
Pytanie 5: ¢
Pytanie 6: b

Pytanie 7: a
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Czesc¢ 2: ZADANIA

Zad. 1
) {z =Cxe¥ +C,e¥* +C,xe*
a
y =C.e¥ -Cxe* —-C,xe*
x=2Ce*" -4C.e™
b)
y=Ce*+C,e™
) x=e'(t-1)+C,
C
y =-In(cost)+C,
" x:Clet+C2—%t(3t+8)

y=-2C,—Cpe' +3t> +4t—4

x =e* -cost
y =e” (cost—sint)
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9 x=¢'(6sin2t—2cos2t)
y =e'(2cos 2t +4sin 2t)

KONIEC
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